

The Science Reports of the Kanazawa University, Vol. IV, No.2, pp.177—182, May, 1956

## The Law of the Iterated Logarithm for Dependent Random Variables

By

Noboru MATSUYAMA and Shigeru TAKAHASHI

(Received February 15, 1956)

§ 1. Let

$$(1.1) \quad \xi_1, \xi_2, \dots$$

be a sequence of random variables defined on a probability space  $(\Omega, B, P)$ . We say that (1.1) is  $m$ -dependent if for some integer  $m \geq 0$ , the inequality  $s-r > m$  implies that the two sets

$$(\xi_1, \xi_2, \dots, \xi_{r-1}, \xi_r) \quad (\xi_s, \xi_{s+1}, \dots, \xi_{n-1}, \xi_n)$$

are independent.

By the induction, if (1.1) is  $m$ -dependent, then the following blocks

$$(\xi_{r_i}, \xi_{r_i+1}, \dots, \xi_{r'_i-1}, \xi_{r'_i}), \quad (i=1, 2, \dots)$$

are independent whenever  $r_{i+1} - r'_i > m$  and  $r'_i \geq r_i$  ( $i=1, 2, \dots$ ). The notion of  $m$ -dependence is the most simple one that can be considered as the weakened independence.

For  $m$ -dependent random variables many authors proved the central limit theorem (c. f. [1], [2] and [3]) as an extension of the limit theorems of independent random variables. In this note we shall confine ourselves to the case of  $m$ -dependent sequence and prove the law of the iterated logarithm.

We suppose that, for all  $i$

$$(1.2) \quad E(\xi_i) = 0,$$

and for an  $\varepsilon > 0$

$$(1.3) \quad \int_{|\xi_i| \leq n} \xi_i^2 dP = o\left(\frac{1}{(\log n)^{1+\varepsilon}}\right) \quad (n \rightarrow +\infty)$$

uniformly in  $i$ .

From (1.3) it follows that for each  $i$  there exists  $E(\xi_i^2)$ , and

$$(1.4) \quad E(\xi_i^2) = o(1) \quad (i \rightarrow +\infty).$$

Further let us put

$$(1.5) \quad S_n = \sum_{i=1}^n \xi_i$$

and

$$(1.6) \quad B_n = E(S_n^2).$$

In §§ 2—4, we prove the following

Theorem. If (1.2), (1.3) and

$$(1.7) \quad \lim_{n \rightarrow \infty} \frac{1}{n} B_n = \sigma^2 > 0,$$

then we have

$$P\left(\overline{\lim}_{n \rightarrow \infty} \frac{S_n}{\sqrt{2B_n \log_2 B_n}} = 1\right) = 1.$$

For the proof of this theorem we use the well known theorem of A. N. Kolmogorov, which states the law of the iterated logarithm for independent random variables.

§ 2. For any fixed  $\alpha$  ( $1 < \alpha < 2$ ), we put

$$(2.1) \quad n_k = [k^\alpha],$$

and

$$(2.1') \quad m_k = n_{k+1} - (m + 1)$$

for any integer  $k \geq k_0$ , where  $k_0^{\alpha-1} > m$ .

Then we have

$$(2.2) \quad n_{k+1} - n_k = m_k - m_{k-1} = O(k^{\alpha-1}) \quad (k \rightarrow +\infty).$$

We define random variables as follows ;

$$(2.3) \quad V_k \equiv \sum_{i=m_k+1}^{n_{k+1}-1} \xi_i$$

and

$$(2.3') \quad V_k' \equiv \text{Max}_{m_k < j < n_{k+1}} \left| \sum_{i=m_k+1}^j \xi_i \right|.$$

Then  $\{V_k\}$  ( $k \geq k_0$ ) is a sequence of independent random variables having the mean value zero and

$$V_k' \leq V_k'' \equiv \sum_{i=m_k+1}^{n_{k+1}-1} |\xi_i|.$$

From (1.4) we have, by the Minkowski's inequality

$$E(V_k^2) \leq E(V_k'^2) \leq E(V_k''^2) \leq \left( \sum_{i=m_k+1}^{n_{k+1}-1} \{E(\xi_i^2)\}^{1/2} \right) = O(k) \quad (k \rightarrow +\infty).$$

Therefore both series,

$$\sum_k \frac{E(V_k^2)}{k^x \log_2 k} \quad \text{and} \quad \sum_k E\left(\left(\frac{V_k'}{\sqrt{k^x \log_2 k}}\right)^2\right)$$

are convergent. From the first, we have by the Khintchine-Kolmogorov's theorem

$$P\left(\sum_k \frac{V_k}{\sqrt{k^x \log_2 k}} \text{ converges} \right) = 1,$$

and this implies

$$P\left(\frac{1}{\sqrt{k^x \log_2 k}} \sum_{i=k_0}^k V_i \rightarrow 0\right) = 1.$$

And from the second we have

$$P\left(\sum_k \frac{(V_k')^2}{k^x \log_2 k} \text{ converges} \right) = 1,$$

and this implies

$$P\left(\frac{V_k'}{\sqrt{k^x \log_2 k}} \rightarrow 0\right) = 1.$$

Hence we have

$$(2.4) \quad P\left(\frac{1}{\sqrt{k^x \log_2 k}} \left( \sum_{i=k_0}^{k-1} V_i + \text{Max}_{m_k < j < n_{k+1}} \left| \sum_{i=m_k+1}^j \xi_i \right| \right) \rightarrow 0\right) = 1.$$

§ 3. Let us put, for  $n_k \leq i \leq m_k$  ( $k \geq k_0$ )

$$(3.1) \quad \xi_i' = \begin{cases} \xi_i - a_i, & \text{if } |\xi_i| \leq \frac{k^{1-\alpha/2}}{\log_2 k} \\ -a_i, & \text{otherwise,} \end{cases}$$

and

$$(3.1') \quad \xi_i'' = \xi_i - \xi_i',$$

where

$$(3.2) \quad a_i = \int_{|\xi_i| \leq k^{1-\alpha/2}/\log_2 k} \xi_i dP = - \int_{|\xi_i| > k^{1-\alpha/2}/\log_2 k} \xi_i dP = O\left(\frac{\log_2 k}{k^{1-\alpha/2}(\log k)^{1+\varepsilon}}\right) \quad (k \rightarrow +\infty).$$

Further let us put, for  $k \geq k_0$ ,

$$(3.3') \quad U_k = \sum_{i=n_k}^{m_k} \xi_i,$$

$$(3.3) \quad U'_k = \sum_{i=n_k}^{m_k} \xi_i',$$

and

$$(3.3'') \quad U''_k = \sum_{i=n_k}^{m_k} \xi_i''.$$

Then  $\{\xi_i'\}$  is a sequence of  $m$ -dependent random variables having the mean value zero, and  $\{U_k'\}$  is a sequence of independent random variables. The same facts are true for  $\{\xi_i''\}$  and  $\{U_k''\}$ .

Let us put

$$W_k = \text{Max}_{n_k \leq j \leq m_k} \left| \sum_{i=n_k}^j \xi_i'' \right|$$

and for  $0 \leq r \leq m$

$$W_{k,r} = \text{Max}_{0 \leq j \leq (m_k - n_k)/(m+1)} \left| \sum_{i=0}^m \xi''_{n_k + i(m+1) + r} \right|.$$

Then we have

$$W_k \leq \sum_{r=0}^m W_{k,r} \quad *)$$

Since each  $W_{k,r}$  is the maximum modulus of the sum of independent random variables having mean value zero, by (1.3), (3.2) and the Kolmogorov's inequality we have for any  $\delta > 0$

$$\begin{aligned} P\left(\frac{W_{k,r}}{\sqrt{k^\alpha \log_2 k}} > \delta\right) &\leq \frac{(m_k - n_k)/(m+1)}{\sum_{i=0}^m} E(\xi''_{n_k + i(m+1) + r}) / k^\alpha \log_2 k \\ &= O\left(\frac{(m_k - n_k)}{\delta^2 k^\alpha \log_2 k (\log k)^{1+\varepsilon}}\right) \\ &= O\left(\frac{1}{\delta^2 k (\log k)^{1+\varepsilon} \log_2 k}\right) \quad (k \rightarrow +\infty). \end{aligned}$$

Hence, we have

$$\sum_{k=k_0}^{\infty} P\left(\frac{W_k}{\sqrt{k^\alpha \log_2 k}} > \delta(m+1)\right) \leq \sum_{k=k_0}^{\infty} P\left(\sum_{r=0}^m \left(\frac{W_{k,r}}{\sqrt{k^\alpha \log_2 k}} > \delta\right)\right)$$

\*) This inequality is proved by the following way,

$$W_k = \max_{n_k \leq j \leq m_k} \left| \sum_{i=n_k}^j \xi_i'' \right| = \left| \sum_{i=n_k}^{N(\omega)} \xi_i'' \right|,$$

where  $n_k \leq N(\omega) \leq m_k$ . Hence we can write  $W_k$  by

$$W_k = \left| \sum' \xi''_{n_k + (m+1)i + r} \right|$$

and  $\sum'$  is the summation over all  $i$  and  $r$ , where

$$n_k \leq n(n_k) + (m+1)i + r \leq N(\omega),$$

$$W_k \leq \sum_{r=0}^m \sum_{0 \leq j \leq (m_k - n_k)/(m+1)} \max_{i=0}^j \left| \sum_{i=0}^j \xi''_{n_k + (m+1)i + r} \right| = \sum_{r=0}^m W_{k,r}.$$

$$\leq \sum_{k=k_0}^{\infty} \sum_{r=0}^m P\left(\frac{W_{k,r}}{\sqrt{k^\alpha \log_2 k}} > \delta\right) = o(1) \quad (k \rightarrow +\infty).$$

By the Borel-Cantelli lemma, it follows that

$$(3.4) \quad P\left(\frac{W_k}{\sqrt{k^\alpha \log_2 k}} \rightarrow 0\right) = 1,$$

On the other hand, we have

$$(3.5) \quad E(U_k''^2) = E\left(\left(\sum_{i=n_k}^{m_k} \xi_i''\right)^2\right) = \sum_{i=n_k}^{m_k} \sum_{j=i-m}^{i+m} E(\xi_i'' \xi_j'')$$

$$\leq \sum_{i=n_k}^{m_k} \sum_{j=i-m}^{i+m} \{E(\xi_i''^2)\}^{1/2} \{E(\xi_j''^2)\}^{1/2} = o\left(k^{\alpha-1} \frac{1}{(\log k)^{1+\varepsilon}}\right) \quad (k \rightarrow +\infty).$$

From this we have

$$\sum_k \frac{E(U_k''^2)}{k^\alpha \log_2 k} < +\infty,$$

and this implies,

$$P\left(\sum_k \frac{U_k''}{\sqrt{k^\alpha \log_2 k}} \text{ converges}\right) = 1.$$

Hence we have

$$(3.6) \quad P\left(\frac{1}{\sqrt{k^\alpha \log_2 k}} \sum_{i=k_0}^k U_i'' \rightarrow 0\right) = 1.$$

From (3.4) and (3.6), we obtain

$$(3.7) \quad P\left(\frac{1}{\sqrt{k^\alpha \log_2 k}} \left(\sum_{i=k_0}^{k-1} U_i'' + \text{Max}_{n_k \leq j \leq m_k} \left|\sum_{i=n_k}^j \xi_i''\right|\right) \rightarrow 0\right) = 1.$$

§ 4. we obtain from the definitions of  $U_i$ ,  $U_i'$  and  $U_i''$

$$E\left(\left(\sum_{i=k_0}^k U_i'\right)^2\right) = E\left(\left(\sum_{i=k_0}^k (U_i - U_i'')\right)^2\right)$$

$$= E\left(\left(\sum_{i=k_0}^k U_i\right)^2 - 2 \sum_{i=k_0}^k E(U_i U_i'') + \sum_{i=k_0}^k E(U_i''^2)\right).$$

By the  $m$ -dependences of  $\{\xi_i\}$  and  $\{\xi_i''\}$ , we have

$$\left| E(U_i U_i'') \right| \leq \sum_{i=n_k}^{m_k} \sum_{j=i-m}^{i+m} E(|\xi_i \xi_j|) = o\left(\frac{k^{\alpha-1}}{(\log k)^{(1+\varepsilon)/2}}\right) \quad (k \rightarrow +\infty).$$

Therefore we obtain by (3.5) and the above inequality,

$$E\left(\left(\sum_{i=k_0}^k U_i'\right)^2\right) = E\left(\left(\sum_{i=k_0}^k U_i\right)^2\right) + o(k^\alpha) \quad (k \rightarrow +\infty).$$

By the same way, it is seen that

$$E(S_{n_{k+1}-1}) = E\left(\left(\sum_{i=k_0}^k U_i + \sum_{i=k_0}^k V_i + S_{n_{k_0}-1}\right)^2\right)$$

$$= E\left(\left(\sum_{i=k_0}^k U_i\right)^2\right) + 2E\left(\sum_{i=k_0}^k U_i (V_i + V_{i-1})\right) + E\left(\sum_{i=k_0}^k V_i^2\right)$$

$$+ 2E(U_{k_0} S_{n_{k_0}-1}) + E(S_{n_{k_0}-1}^2).$$

$$= E\left(\left(\sum_{i=k_0}^k U_i\right)^2\right) + o(k) + o(k) + o(1)$$

$$= E\left(\left(\sum_{i=k_0}^k U_i\right)^2\right) + o(k^\alpha) \quad (k \rightarrow +\infty).$$

If we put

$$D_k = E \left( \left( \sum_{i=k_0}^k U_{i'} \right)^2 \right),$$

then we have

$$(4.1) \quad D_k = E \left( (S_{n_{k-1}} - I)^2 \right) + o(k^\nu) \geq \sigma^2 k^\alpha / 2.$$

By the definitions of  $\xi_{i'}$  and  $U_{k'}$ , it is seen that

$$(4.2) \quad \frac{U_{k'}}{\sqrt{2D_k/\log_2 D_k}} \leq \frac{\sum_{i=n_k}^{m_k} |\xi_{k'} - a_i| + \sum_{i=n_k}^{m_k} |a_i|}{\sqrt{2D_k/\log_2 D_k}} = o \left( \frac{k^{x-1} k^{1-\alpha/2}/\log_2 k}{\sqrt{k^\nu/\log_2 k}} \right) = o \left( \left( \frac{1}{\log_2 k} \right)^{1/2} \right) = o(I) \quad (k \rightarrow +\infty).$$

Hence we apply the theorem of A. N. Kolmogorov to  $\{U_{k'}\}$  and we obtain

$$(4.3) \quad P \left( \overline{\lim}_{n \rightarrow \infty} \frac{\sum_{i=k_0}^k U_i}{\sqrt{2D_k \log_2 D_k}} = 1 \right) = 1.$$

On the other hand we have for  $n$  ( $n_k < n < n_{k+1}$ )

$$\begin{aligned} |E(S_{n_k}^2 - E(S_{n_k}^2))| &\leq 2|E(S_{n_k}(S_n - S_{n_k}))| + E((S_n - S_{n_k})^2) \\ &\leq 2 \sum_{i=n_k-m}^{n_k} \sum_{j=n_k}^{n_k+m} E(|\xi_i \xi_j|) + \sum_{i=n_k}^{m_k} \sum_{j=-m}^m E(|\xi_i \xi_{i+j}|) \\ &= o(k^{x-1}) = o(k^x) \end{aligned} \quad (k \rightarrow +\infty).$$

Hence we have

$$(4.4) \quad B_n = B_{n_{k+1}-1} + o(k^x) = D_k + o(k^x) \quad (k \rightarrow +\infty).$$

By (1.7), (2.4) and (4.4), it is seen that for  $m_k < n < n_{k+1}$

$$P \left( \overline{\lim}_{n \rightarrow \infty} \frac{\sum_{i=k_0}^k V_i + \sum_{i=m_k+1}^m \xi_i + S_{n_{k_0}-1}}{\sqrt{2B_n \log_2 B_n}} = 0 \right) = 1.$$

By the definition of  $\xi_{i'}$ , we have for  $n_k \leq n \leq m_k$

$$\frac{\sum_{i=n+1}^{m_k} |\xi_{i'}|}{\sqrt{2B_n \log_2 B_n}} = o \left( \left( \frac{1}{\log_2 k} \right)^{3/2} \right) = o(I) \quad (n \rightarrow +\infty),$$

hence

$$\begin{aligned} &P \left( \overline{\lim}_{n \rightarrow \infty} \frac{\sum_{i=k_0}^k U_{i'} - \sum_{i=n+1}^{m_k} \xi_{i'}}{\sqrt{2B_n \log_2 B_n}} = 1 \right) \\ &= P \left( \overline{\lim}_{n \rightarrow \infty} \frac{\sum_{i=k_0}^k U_{i'}}{\sqrt{2B_n \log_2 B_n}} = 1 \right) \\ &= P \left( \overline{\lim}_{n \rightarrow \infty} \frac{\sum_{i=k_0}^k U_{i'}}{\sqrt{2D_k \log_2 D_k}} = 1 \right) = 1. \end{aligned}$$

On the otherhand by (3.7), for  $n_k \leq n \leq m_k$

$$P \left( \overline{\lim}_{n \rightarrow \infty} \frac{\sum_{i=1}^{k-1} U_{i''} + \sum_{i=n_k}^n \xi_{i''}}{\sqrt{2B_n \log_2 B_n}} = 0 \right) = 1.$$

And thus we obtain, by (4.4)

$$P\left(\lim_{n \rightarrow \infty} \frac{\sum_{i=1}^n \xi_i}{\sqrt{2B_n \log_2 B_n}} = 1\right) = 1.$$

#### References.

- [1] W. Hoeffding and H. Robbins, The central limit theorem for dependent random variables, Duke Math. Jour., vol. 15(1948) pp. 773-780.
- [2] G. Marsaglia, Iterated limits and the central limit theorem for dependent variables, Proc. Amer. Math. Soc., vol. 5(1945) pp. 987-991.
- [3] P. H. Diananda, The central limit theorem for m-dependent variables, Proc. Cambridge Philos. Soc., vol. 51(1955) pp. 92-95.
- [4] A. N. Kolmogorov, Über das Gesetz des iterierten Logarithmus, Math. Ann., vol. 101(1929) pp. 126-135.